
3 4

8x1
0 D

FL-
SS
 TO

P 
CH

OR
D

8x12 DFL-SS BOTTOM 
CHORDRUSS = 114'-0 3/4"

6x
6 

DF
L-

N
o2

 6x
6 

DF
L-

N
o2

 

6x
6 

DF
L-

N
o2

 

8x10 DFL-SS TOP CHORD

S3.2
2

S3.2
3

S3.2
4

S3.2
5

4x
4 
DF
L-
No
2

RE: ARCH FOR HARDWARD 
AND WASHER SPECIFICATIONS

4x4 DFL-No2

B/RIDGE = T/TRUSS
= 121'-5 15/16"

8x RIDGE BEAM, ATTACH TO 
TRUSS W/ (2)1/2") LAG 
SCREWS W/ 4" EMBED, 
(4) TOTAL AT RIDGE SPLICE

RAFTERS, BLOCKING, AND 
SHEATHING NOT SHOWN

(2) TIMBERLOK SCREWS FROM 
EACH SIDE (4 TOTAL) W/ 
2 1/2" MIN EMBED INTO 
OPPOSITE TOP CHORD

FLAT CUT TOP OF CHORDS 
FOR RIDGE BEARING

KNIFE +1/4x3x0'-11" W/ 
(2)3/4") THRU BOLTS

6x VERTICAL, LET INTO TOP 
CHORD 1/2"

TOP CHORD

FINISHES, RE: ARCH

TYP
1/4"

1/
2"

(2) TIMBERLOK SCREWS FROM 
EACH SIDE (4 TOTAL) W/ 

2 1/2" MIN EMBED INTO TOP 
CHORD, COUNTERSINK AND PLUG

(2) TIMBERLOK SCREWS 
W/ 2 1/2" MIN EMBED 
INTO 6x VERTICAL

(2) DECORATIVE 3/4") 
BOLTS, RE: ARCH

6x VERTICAL, LET INTO TOP 
AND BOTTOM CHORDS 1/2"

TOP CHORD

(2) TIMBERLOK SCREWS 
W/ 2 1/2" MIN EMBED 

INTO 6x VERTICAL, 
STAGGER SCREWS TO 

AVOID COLLISION

4x DIAGONAL

BOTTOM CHORD

TIMBERLOK SCREW W/ 
2 1/2" MIN EMBED INTO 
4x DIAGONAL

DECORATIVE 3/4") BOLT, 
RE: ARCH

5"
3"

(2) TIMBERLOK SCREWS FROM 
EACH SIDE (4 TOTAL) W/ 

2 1/2" MIN EMBED, 
COUNTERSINK AND PLUG

(2) DECORATIVE 3/4") 
BOLTS, RE: ARCH

6x VERTICAL, LET INTO 
BOTTOM CHORD 1/2"

BOTTOM CHORD

4x DIAGONAL, LET INTO VERTICAL 
AND BOTTOM CHORD 1/2"

(2) TIMBERLOK SCREWS 
W/ 2 1/2" MIN EMBED 
INTO BOTTOM CHORD

TIMBERLOK SCREWS W/ 
2 1/2" MIN EMBED 
INTO 6x VERTICAL

5"
3"

(2) TIMBERLOK SCREWS FROM 
EACH SIDE (4 TOTAL) W/ 

2 1/2" MIN EMBED, 
COUNTERSINK AND PLUG

1" 5 1/4" 1"

1 
1/

2"
M
IN4"

2 1/8"3"2 1/8"

BOTTOM CHORD

NOTCH TOP CHORD, AND BEAR 
TIGHT INTO BOTTOM CHORD

TOP CHORD

(8)1/2") LAG SCREWS

BEARING +1/2x5x0'-5", RECESS 
INTO TRUSS BOTTOM CHORD

KNIFE +1/4x4x0'-9" W/ 
(2)3/4") THRU BOLTS

BASE +1x5 1/4x0'-8 1/8", 
PLATE TO MATCH COLUMN SIZE

HSS4x4x1/4x0'-2 1/2" COLUMN STUB

5"
2 

1/
2"

1/4

(1/4)
(1/4) TYP AT

FLANGE

1/4
1/4

EXPOSED WIDE FLANGE COLUMN

.

PLACE STUD ON BOTH 
SIDES OF TRUSS AND 
ATTACH W/ (8)10d

8"8 3/16"

4"3"5"3"

DECORATIVE 3/4") BOLT,
RE: ARCH

ALL EXPOSED BOLTS TO 
BE UNCOATED BARE 
A307 STEEL, RE: ARCH

KL A&
Engineers    Builders
1717 Washington Avenue, Suite 100
Golden, Colorado  80401
P: (303) 384 9910  F: (303) 384 9915

Buffalo, WY  ○  Carbondale, CO  ○  Golden, CO  ○  Loveland, CO     

&

TH
E 

ST
RU

CT
UR

AL
 E

NG
IN
EE

RS
 S

EA
L 
ON

 T
H
IS
 D

RA
W
IN
G 

IN
DI
CA

TE
S 

TH
AT
 T
H
E 

IN
FO

RM
AT
IO
N 

SH
OW

N 
AN

D 
TH

E 
CA

LC
UL

AT
IO
N
S 

PE
RT

AI
NI
NG

 T
O 

TH
AT
 I
NF

OR
M
AT
IO
N 

H
AV

E 
B
EE

N 
PR

EP
AR

ED
 B

Y 
QU

AL
IF
IE
D 

PE
OP

LE
 U

ND
ER

 T
H
E 

DI
RE

CT
IO
N 

OF
 T
H
E 

EN
GI
NE

ER
-
OF

-
RE

CO
RD

. 
TH

E 
SE

AL
 D

OE
S 

NO
T 
IM
PL

Y 
RE

SP
ON

SI
B
IL
IT
Y 

FO
R 

IN
FO

RM
AT
IO
N 

PR
EP

AR
ED

 B
Y 

OT
H
ER

S 
NO

R 
FO

R 
AN

Y 
IN
FO

RM
AT
IO
N 

NO
T 
SH

OW
N 

ON
 T
H
IS
 D

RA
W
IN
G 

AN
D 

SU
CH

 R
ES

PO
NS

IB
LI
TY
 

IS
 S

PE
CI
FI
CA

LL
Y 

DI
SC

LA
IM
ED

. 
ON

 P
H
AS

ED
 P

RO
JE
CT

S,
 D

RA
W
IN
GS

 T
H
AT
 A

RE
 I
SS

UE
D 

B
UT

 N
OT

 S
EA

LE
D 

SH
AL
L 
B
E 

CO
NS

ID
ER

ED
 T
O 

B
E 

PR
EL
IM
IN
AR

Y
IN
 N

AT
UR

E 
AN

D 
AR

E 
IS
SU

ED
 F

OR
 I
NF

OR
M
AT
IO
N 

ON
LY
.

c 2019
KL&A, INC

Sheet:

Date/Revision:

Ankeny 
Architecture
And Design

P.O. Box 11062
Jackson, WY 83002

307.413.0904

TH
ES

E 
DR

AW
IN
GS

 A
RE

 T
O 

B
E 

US
ED

 I
N 

CO
NJ

UN
CT

IO
N 

W
IT
H
 T
H
E 

AR
CH

IT
EC

TU
RA

L 
DR

AW
IN
GS

 O
N 

TH
E 

PR
OJ

EC
T 
TO

 C
LE
AR

LY
 D

EF
IN
E 

AL
L 
OF

 T
H
E 

RE
QU

IR
EM

EN
TS

 F
OR

 T
H
E 

CO
NS

TR
UC

TI
ON

. 
 W

H
ER

E 
CO

NF
LI
CT

S 
OC

CU
R 

CO
NT

AC
T 
AR

CH
IT
EC

T 
FO

R 
CL

AR
IF
IC
AT
IO
N.

PERMIT SET       05.10.2019

CONST. 06.28.2019

REVISION 1 08.23.2019

S3.2
INTERIOR TRUSS

Ri
ch

a
rd

so
n 

Re
sid

en
ce

53
70

 W
es

t W
oo

dc
hu

ck
 R

oa
d

Lo
t 1

0,
 U

ni
t 1

, R
iv

er
 M

ea
do

w
s S

ub
di

vi
sio

n
Te

to
n 

C
ou

nt
y,

 W
yo

m
in

g

M0012
1/2" = 1'-0"1 GREAT ROOM TRUSS ELEVATION

1" = 1'-0"2 TIMBER TRUSS RIDGE DETAIL

1" = 1'-0"3 TRUSS CONNECTION DETAIL

1" = 1'-0"5 TRUSS CONNECTION DETAIL

1" = 1'-0"4 TRUSS TO COLUMN CONNECTION
1



RE: PLAN RE: PLAN

W6
x20

1/4
1/4TYP FLANGE

TO FLANGE

1/4
1/4TYP WEB

TO FLANGE

CORRUGATED ROOF DECK, ATTACH 
TO EACH RAFTER W/ #12 SCREW 
W/ WASHER HEAD @8"OC W/ 2" 
MIN EMBED INTO WOOD

TIMBER RAFTER, ATTACH FROM 
FLANGE TO EACH RAFTER W/ 
(4)SIMPSON SDWS TIMBER 
SCREW W/ 2" MIN EMBED, 
RE: ARCH FOR RAFTER LAYOUT

1/4

W6x20

W6x20

W
4x

13

W
4x

13

W
4x

13

W4x13 W4
x13

TIMBER COLUMN

1/4

HSS4x4x1/4x0'-2 1/2" 
COLUMN STUB

STEEL CAP +1 1/2x9 3/4x0'-9 3/4"  

KNIFE +1/4x4x0'-8" W/ 
(2)3/4") THRU BOLTS

3"
3"

2"

(1/4)

1'-9 5/8" 3'-1 1/2" 2'-10 1/2" 2'-10 1/2" 3'-1 1/2" 1'-9 5/8"

108'-10 1/2"

T/STL
113'-8 13/16"

B/STL

8:12

TYP

2'-0"

6"

2"

RE: ARCH FOR HARDWARD 
AND WASHER SPECIFICATIONS

1

6 7

1/4
1/4TYP FLANGE

TO FLANGE

1/4
1/4TYP WEB

TO FLANGE

HSS4x4x1/4x0'-2 1/2" 
COLUMN STUB

STEEL CAP +1 1/2x11 3/4x0'-11 3/4"  

RE: PLAN RE: PLAN

W1
0x3

0

2x DECKING, ATTACH EACH PLANK 
TO EACH RAFTER W/ (2)10d OR 
(1)#10x3" WOOD SCREW

TIMBER RAFTER, RE:
FOR ATTACHMENT TO STEEL BEAM

1/4

W10x30

W
6x

12

1/4

FINISHES AND VENTILATED COLD 
ROOF, RE: ARCH

RE: 1/S3.3

TIMBER COLUMN

KNIFE +1/4x4x0'-8" W/ 
(2)3/4") THRU BOLTS

W10x30

W
6x

12

W
6x

12

W6x12 W6
x12

2'-2" 6'-0" 6'-0" 6'-0" 6'-0" 2'-2"

TYP

2'-0"

7 1/4"
2"

112'-2 5/8"

(1/4)
T/STL

121'-8 1/16"

B/STL

8:12

RE: ARCH FOR HARDWARD 
AND WASHER SPECIFICATIONS

1

KL A&
Engineers    Builders
1717 Washington Avenue, Suite 100
Golden, Colorado  80401
P: (303) 384 9910  F: (303) 384 9915

Buffalo, WY  ○  Carbondale, CO  ○  Golden, CO  ○  Loveland, CO     

&

TH
E 

ST
RU

CT
UR

AL
 E

NG
IN
EE

RS
 S

EA
L 
ON

 T
H
IS
 D

RA
W
IN
G 

IN
DI
CA

TE
S 

TH
AT
 T
H
E 

IN
FO

RM
AT
IO
N 

SH
OW

N 
AN

D 
TH

E 
CA

LC
UL

AT
IO
NS

 P
ER

TA
IN
IN
G 

TO
 T
H
AT
 I
NF

OR
M
AT
IO
N 

H
AV

E 
B
EE

N 
PR

EP
AR

ED
 B

Y 
QU

AL
IF
IE
D 

PE
OP

LE
 U

ND
ER

 T
H
E 

DI
RE

CT
IO
N 

OF
 T
H
E 

EN
GI
NE

ER
-
OF

-
RE

CO
RD

. 
TH

E 
SE

AL
 D

OE
S 

NO
T 
IM
PL

Y 
RE

SP
ON

SI
B
IL
IT
Y 

FO
R 

IN
FO

RM
AT
IO
N 

PR
EP

AR
ED

 B
Y 

OT
H
ER

S 
NO

R 
FO

R 
AN

Y 
IN
FO

RM
AT
IO
N 

NO
T 
SH

OW
N 

ON
 T
H
IS
 D

RA
W
IN
G 

AN
D 

SU
CH

 R
ES

PO
NS

IB
LI
TY
 

IS
 S

PE
CI
FI
CA

LL
Y 

DI
SC

LA
IM
ED

. 
ON

 P
H
AS

ED
 P

RO
JE
CT

S,
 D

RA
W
IN
GS

 T
H
AT
 A

RE
 I
SS

UE
D 

B
UT

 N
OT

 S
EA

LE
D 

SH
AL
L 
B
E 

CO
NS

ID
ER

ED
 T
O 

B
E 

PR
EL
IM
IN
AR

Y
IN
 N

AT
UR

E 
AN

D 
AR

E 
IS
SU

ED
 F

OR
 I
NF

OR
M
AT
IO
N 

ON
LY
.

c 2019
KL&A, INC

Sheet:

Date/Revision:

Ankeny 
Architecture
And Design

P.O. Box 11062
Jackson, WY 83002

307.413.0904

TH
ES

E 
DR

AW
IN
GS

 A
RE

 T
O 

B
E 

US
ED

 I
N 

CO
NJ

UN
CT

IO
N 

W
IT
H
 T
H
E 

AR
CH

IT
EC

TU
RA

L 
DR

AW
IN
GS

 O
N 

TH
E 

PR
OJ

EC
T 
TO

 C
LE
AR

LY
 D

EF
IN
E 

AL
L 
OF

 T
H
E 

RE
QU

IR
EM

EN
TS

 F
OR

 T
H
E 

CO
NS

TR
UC

TI
ON

. 
 W

H
ER

E 
CO

NF
LI
CT

S 
OC

CU
R 

CO
NT

AC
T 
AR

CH
IT
EC

T 
FO

R 
CL

AR
IF
IC
AT
IO
N.

PERMIT SET       05.10.2019

CONST. 06.28.2019

REVISION 1 08.23.2019

S3.3
EXTERIOR
TRUSSES

Ri
ch

a
rd

so
n 

Re
sid

en
ce

53
70

 W
es

t W
oo

dc
hu

ck
 R

oa
d

Lo
t 1

0,
 U

ni
t 1

, R
iv

er
 M

ea
do

w
s S

ub
di

vi
sio

n
Te

to
n 

C
ou

nt
y,

 W
yo

m
in

g

M0012

1" = 1'-0"1 ENTRY TRUSS ELEVATION

3/4" = 1'-0"2 GARAGE TRUSS ELEVATION


	Sheets
	S3.2 - INTERIOR TRUSS
	S3.3 - EXTERIOR TRUSSES


